Question No : 1 of 27

Marks: 1 (Budgeted Time 1 Min) (=]

Which of the following is called father of scientific management?

Answer | Please selact your correct option |

Henri Fayol

Idaz Weber

Frednck W. Taylor

Abraham Maslow
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Question No : 2 of 27

Marks: 1 (Budgeted Time 1 Min) (=]

Which of the following is considered to be the father of modern computing?

Answer | Please select your correct option |

Fredrick W Taylor

Abraham Maslow

Charles Babbage

Max Weber
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Question No : 3 of 27

Marks: 1 (Budgeted Time 1 Min) (=]

Field of that fi on designing and i

based information systems is called:

Answer | Please select your correct option |

Management information system

Operations management

Marketing management

Principles of management
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Question No : 4 of 27

Marks: 1 (Budgeted Time 1 Min) (=]

All of the following are assumptions of rationality EXCEPT:

Answer | Please select your correct option |

The problem 15 clear and unambiguous

Preferences are constant and stable

Preferences are vague

Final choice will mazimize payoff

Weade By: Wagar Siddhu

Question No : 5 of 27

Marks: 1 (Budgeted Time 1 Min) (=]

Which of the following is an advantage of group decision-making?

Answer | Please select your correct option |

The group process talces less time

Groupthink may ocour

More decision alternatives are generated

One person can deminate the group

Weade By: WNagar Siddhu

Question No : 6 of 27

Marks: 1 (Budgeted Time 1 Min) (=]

In a PERT network slack time represents which of the following?

Answer | Please select your correct option |

The amount of time an activity can be delayed without delaying the whole project

The end pomt that represents the completion of a major actvity

The longest or most time-censummng sequence of events and activities

Weade By: WNagar Siddhu




Question No : 7 of 27 Marks: 1 (Budgeted Time 1 Min) [z

Decisions which deal with situations where the factors are fairly structured and occur with some frequency are called:

Answer | Please select your correct option )

Heuristic decision

Programmed decision

Ménfprogrammed decision mdde 33: mdqﬂr Siddhu

Marks: 1 (Budgeted Time 1 Min) (=]

Question No : 7 of 27

Decisions which deal with situations where the factors are fairly structured and occur with some frequency are called:

[Answer | Please select your correct option |

Heuristic decision

o
Programmed decision
{ @)
Satisficing decision
~

Mon-programmed decision
’ Made By: Wagar Siddhu

Marks: 1 (Budgeted Time 1 Min) (=]

Question No : 8 of 27

As managers move toward the organizational hierarchy, problems are more likely to become which of the following?

[Answer | Please select your correct option |

Well-structured

Il-structured

Programmed

MNon-programmed
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Question No : 9 of 27 Marks: 1 (Budgeted Time 1 Min) (=]

is distinguished as an organization?

As organization is defined as the structure formed by the union of two or more persons to achieve a common goal, which of the foll

Answer | Please select your correct option |

Government

Tniversity

MMoscque
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Marks: 1 (Budgeted Time 1 Min) (=]

Question No : 10 of 27

All of the following are values of studying management, EXCEPT:

Answer | Please select your correct option |

Recognizes the important role played by management in society

o
Prowides essential knowledge to be effective m managenal positions
{ @)
Gives insight into individual's personality and behavier
~

Elucidates the operations of the crgameations
o
ade By: Wagar Siddhu

Marks: 1 (Budgeted Time 1 Min) (=]

Question No : 11 of 27

Top-level Managers are often involved in defining span of control within the organization, while performing:

Answer | Please select your correct option |

Planning function

Orgamzang function

Leading function

Contrelling function

‘ Made By: Wagar Siddhua




Question No : 12 of 27 Marks: 1 (Budgeted Time 1 Min) (=]

ds upon the particular variahles of a situation?

In which of the following managerial approach, it is d that decision regarding ial actions dep

Answer | Please select your correct option |

Process approach

3]

Contingency approach
o

Function approach
O

‘ Made By: Wagar Siddhu

Marks: 1 (Budgeted Time 1 Min) (=]

Question No : 13 of 27

Which of the following depicts the name of system in which different countries use the common currency?

Answer | Please select your correct option |

European common market

o
Internaticnal menetary fund
{ @)
TWestern European alliance
~

Economic and monetary union
’ Made By: Wagar Siddhu

Marks: 1 (Budgeted Time 1 Min) (=]

Question No : 14 of 27

In terms of linear programming, profit margins on different products that a company can produce represent which of the following?

Answer | Please select your correct option |

Constraints

Feasbility regiens

Scenarios

Objective funchion
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Question No : 15 of 27 Marks: 1 (Budgeted Time 1 Min) (=]

The CEQ of an electronic appliances company set up an executive comumittee to consider the corporation’s fiture direction. The focus of the committee i5:

Answer | Please select your correct option |

Planning
3]
Organizing
-
Leading
O
Controlling
o
Made By: Wagar Siddhu
Question No : 16 of 27 Marks: 1 (Budgeted Time 1 Min) (=]

Tahen Japanese automobile manufacturers entered in the TS matket, they began beating out the U3 competitors on the basis of

Answer | Please select your correct option |

Tnmovation
e
Globalization
{ @)
Diversity
e
Quality
o
Wede By: Wagar Siddhuy
Question No : 17 of 27 Marks: 1 (Budgeted Time 1 Min) (=]

Mr. Waris, the manager of a fast-food restaurant, uses a computer to handle employee scheduling considering assigning grills, order counters and takeaway window responsibilities according to hourly —
worldoad. Which of the following management fields is helping him in this scheduling?

Answer | Please select your correct option |

Operations research

Operations management

Management information system

Total quality management
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Question No : 18 of 27 Marks: 1 (Budgeted Time 1 Min) (=]

WVULMS of Virtual University is a good example of

Answer | Please select your correct option |

E-mail

Intranet

Globalization
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Marks: 1 (Budgeted Time 1 Min) (=]

Question No : 19 of 27

‘Revolutionary Computers’ is a local manufacturer of computer accessories. For the last 3 months the company is facing heavy losses in the sales of its manufactured USEs. Which
suggestion will you propose to Revolutionary Computers?

Answer | Please select your correct option |

Tnwest more money in its production procedure

o
Abruptly change the production procedure
{ @)
Get feedback from product users
~

Increase the product price to 10 percent
o -
Wede By: Wagar Siddhuy

Marks: 1 (Budgeted Time 1 Min) (=]

Question No : 20 of 27

The part of mega environment, that includes the attitudes, values, norms, heliefs, behaviors and associated demographic trends that are characteristics of a given geographic area, is
called:

Answer | Please select your correct option |

The socio-cultural element

o
The mternational element
{ @)
The economic element
~

The legal-political element
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Question No : 21 of 27 Marks: 1 (Budgeted Time 1 Min) (=]

Which of the following term is used to identify the electronic network of organization among its employees?

Answer | Please select your correct option |

Internet

Intranet

Estranet
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Marks: 1 (Budgeted Time 1 Min) (=]

Question No : 22 of 27

A real estate firm, based in Karachi, iz afraid because of conflicts and fights among vatious native groups and is thinking to abanden their projects. Which type of problem is this?

Answer | Please select your correct option |

Opportunity

Crises

Mon-crises

‘ Made By: Wagar Siddhua

Marks: 3 (Budgeted Time 6 Min) (=]

Question No : 23 of 27

Explain different stages that help in identifying the problems?

Answer | Please click here to Add Answer )
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Question No : 24 of 27

Explain the difference hetween social and safety needs.

Answer [ Please click here to Add Answer )
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Question No : 25 of 27

Explain hounded rationality and satisficing.

Answer | Please click here to Add Answer )
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Question No : 26 of 27

What types of outputs are offered by an organization to its environment?

Answer [ Please click here to Add Answer )

NEEHER| L Ea]s o (#5061 E [

2 | I = P LJHE

|I- lormeal

Weade By: WNagar Siddhu
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Question No : 27 of 27

Explain the purposes of scenario planning.

Answer | Please click here to Add Answer )
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